
Age Range: 3-7 Years
Weight Limit: 65 lbs.             
Surfaces: Hard and Grass         
Speed: 3.5 MPH Forward/Reverse

Colors: Red Body/Black Wheels               
Intro: 2017
Suggested Retail: $252.00
Box Dimensions: 18" L x 28.5" W x 51" H
Warranty: One Year Vehicle      

Six Months Battery       

DRL28
Lightning McQueen

PW Preschool

Item Part Number Description QTY Item Part Number Description QTY
1 00801-0712 S6V (RED) Battery w/ Internal Fuse 1 42 3900-5540 Seat for McQueen DRL28 1
2 00801-1779 S6V Charger Fused 1 44 3900-1003 Steering Wheel for McQueen 1
3 N/A Body 1 45 H8256-2379 Soundbox Cover (black) 1
4 3900-5543 Front Bumper w/Label for McQueen DRL28 1 46 3900-5541 Soundbox for McQueen DRL28 1
5 3900-5583 Rear Bumper For Lightning McQueen 1 47 N/A Soundbox Battery Door
6 0912-8001 (1) #8 x 3/4 inch screw 28 48 H8256-4239 Steering Column for Lightning McQueen 1
8 H8256-2019 Front Module for Lightning McQueen 1 49 00968-2821 7R Gearbox (21-22-23) 2
9 00801-1939 Cap Nut .437 (Black) 6 50 N/A Rear Spoiler
11 3900-5584 Front Axle for Lightning McQueen (DRL28) 2
12 H8256-9419 Steering Linkage for Lughning McQueen 1 Part Number Description QTY
13 N/A Retainer Pivot 2 3900-5537 Label Sheet for McQueen DRL28 1
14 3800-7809 Battery Retainer 1 3900-5538 Manual for McQueen DRL28 1
15 N/A #12 x 1.25 screw 2 3900-5536 Parts Bag for McQueen DRL28 1
16 00801-1337 1/4" Flat Washer 2 W2604-9289 Hardware Bag 1
17 00968-2924 # 7R Motor Gearbox Assembly (21T) 2 78640-2629 Cap Nut Tool 1
18 00968-2721 # 7R Motor Pinion (21T) 2 0801-0196 7/16" Washer 2
20 H825-9389 Footboard for Lightning McQueen 1 00905-0116 3/8" -16 Lock Nut 2
21 00801-2039 Footswitch - (plunger type) 1 0801-0604 Cap Nut .354 (Black) 3
22 H8256-9799 Wire Harness for Lightning McQueen 1 00801-1775 Switch Control - (shifter)(rocker type) 1
23 N9733-9239 Shifter for Lightning McQueen (silver) 1 3900-5539 Windshield Label for McQueen DRL28 1
24 H8256-4519 Rear Axle for Lightning McQueen 1 00801-1567 Wrench 9/16" (Assembly Tool) 1
25 74460-2249 Wheel Driver 10 RIB (black) 2
26 H8256-2459 Front Wheel for Lightning McQueen 2
27 H8256-2469 Rear Wheel for Lightning McQueen(black) 2
28 H8256-2279 Wire Cover 1
29 *On Seat PW Emblem 1
30 73610-2689 Bushing .437 Long (black) 2
31 H8256-2289 Rear Wheel Cover for Lightning McQueen 2
32 W2604-2579 Front Rim for McQueen (dark gray) 2
33 H8256-2589 Hubcap Center for Lightning McQueen 4
35 3900-5534 Right Exhaust Pipe for McQueen DRL28 1
36 3900-5535 Left Exhaust Pipe for McQueen DRL28 1
37 3900-5542 Hood w/Label for McQueen DRL28 1
38 N/A Dash 1 Revised 2/27/2018 19:00

Parts Not Shown

Bold and Underlined parts are to be purchased and installed by Service 
Centers only.  These may not be sold directly to consumers by Service 
Centers or Fisher-Price.


